ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 367 factor of 207 factor of 337 1.
A. 9 A. 5 A. 8
B. 2 B. 15 B. 11 )
C. 7 C. 10 C. 33
D. 4 D. 20 D. 3 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 64? factor of 34? factor of 78? 6.
A. 64 A 2 A. 78
B. 19 B. 17 B. 2 N
C. 2 C. 8 C. 13
D. 16 D. 34 D. 18 8.
9.
10.
7) Which choiceisafactor 8) Which choiceisafactor 9) Which choiceisafactor
of 227 of 707 of 917 "
A. 22 A. 19 A 12
B. 19 B. 10 B. 7 1
C. 5 C 4 C. 17
D. 6 D. 3 D. 9
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 6? of 87? of 82?
A. 15 A7 A 4
B. 3 B. 29 B. 13
C. 14 C 1 C. 2
D. 16 D. 18 D. 20
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ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 36? factor of 207? factor of 33? . C
A. 9 A. 5 A. 8 -
B. 2 B. 15 B. 11 , B
C. 7 C. 10 C. 33 S
D. 4 D. 20 D. 3 3 A
s B
5. C
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 647 factor of 347 factor of 787 6. D
A. 64 A 2 A. 78 S
B. 19 B. 17 B. 2 7 A
C. 2 C. 8 C. 13 -
D. 16 D. 34 D. 18 8. B
o. B
0. B
7) Which choiceisafactor 8) Which choiceisafactor 9) Which choiceisafactor
of 227 of 707 of 917 . B
A. 22 A. 19 A 12 -
B. 19 B. 10 B. 7 1 C
C. 5 C 4 C. 17
D. 6 D. 3 D. 9
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 6? of 87? of 82?
A. 15 A7 A 4
B. 3 B. 29 B. 13
C. 14 C 1 C. 2
D. 16 D. 18 D. 20
M ath T 1 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|
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Finding Factors

Determine which letter best answer s each question.

1) Which choiceisnot a

4)

7)

10)

factor of 967

A. 96 A. 3

B. 2 B. 12

C. 48 C. 23

D. 20 D. 69

Which choiceisnot a 5) Which choiceisnot a
factor of 84? factor of 127

A. 2 A. 3

B. 4 B. 6

C. 42 C. 12

D. 20 D. 8

Which choiceisafactor 8) Which choiceisafactor

of 87?
A. 10
B. 87
C. 15
D. 6

Which choiceisafactor 11) Which choiceisafactor 12)

of 70?
A. 10
17
6

15

OOw

Math

factor of 697?

of 10?
A. 19
11
6

10

Oow

of 26?
A. 9
B. 7
C. 20
D. 13

2) Which choiceisnot a

Name:
Answers
3) Which choiceisnot a
factor of 98? 1.
A. 2
B. 3 )
C. 14
D. 98 N
4,
5.
6) Which choiceisnot a
factor of 1007 6.
A. 100
B. 20 N
C. 10
D. 13 8.
9.
10.
9) Which choiceis afactor of
327 11
A. 20
B. 17 1
C. 11
D. 16
Which choiceis afactor of
547
A. 18
B. 16
C. 14
D. 11
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Finding Factors

Name:

Answer Key

Determine which letter best answer s each question.

1) Which choiceisnot a

4)

7)

10)

factor of 967

A. 96 A. 3

B. 2 B. 12

C. 48 C. 23

D. 20 D. 69

Which choiceisnot a 5) Which choiceisnot a
factor of 84? factor of 127

A. 2 A. 3

B. 4 B. 6

C. 42 C. 12

D. 20 D. 8

Which choiceisafactor 8) Which choiceisafactor

of 87?
A. 10
B. 87
C. 15
D. 6

Which choiceisafactor 11) Which choiceisafactor 12)

of 70?
A. 10
17
6

15

OOw

Math

factor of 697?

of 10?
A. 19
11
6

10

Oow

of 26?
A. 9
B. 7
C. 20
D. 13

2) Which choiceisnot a

o0 w»

18
16
14
11

Which choiceis afactor of
54?

Answers
3) Which choiceisnot a
factor of 98?2 1 D
A. 2
B. 3 , B
C. 14
D. 98 . B
s D
5. D
6) Which choiceisnot a
factor of 100? 6. D
A. 100
B. 20 . B
C. 10
D. 13 . D
oo D
10. A
9) Which choiceis afactor of
327 n D
A. 20
B. 17 n A
C. 11
D. 16

www.CommonCoreSheets.com
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ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 26? factor of 1007 factor of 947 1.
A. 26 A. 14 A 2
B. 2 B. 10 B. 47 )
C. 3 C 4 C. 94
D. 13 D. 2 D. 20 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 307 factor of 74? factor of 24? 6.
A. 2 A 2 A. 24
B. 3 B. 37 B. 2 N
C. 30 C. 20 C. 14
D. 4 D. 74 D. 12 8.
9.
10.
7) Which choiceisafactor 8) Which choiceisafactor 9) Which choiceisafactor
of 277 of 407 of 487 "
A. 2 A. 6 A. 24
B. 14 B. 4 B. 7 1
C. 9 C. 13 C. 13
D. 20 D. 18 D. 10
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 68? of 28? of 8?
A. 13 A 12 A. 17
B. 34 B. 5 B. 9
C. 5 C. 17 C. 10
D. 16 D. 14 D. 2
M ath T 3 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 26? factor of 100? factor of 94? . C
A. 26 A. 14 A. 2 -
B. 2 B. 10 B. 47 , A
C. 3 C 4 C. 94 S
D. 13 D. 2 D. 20 3 D
s D
5. C
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 307 factor of 74? factor of 24? . C
A. 2 A 2 A. 24 S
B. 3 B. 37 B. 2 7 C
C. 30 C. 20 C. 14 -
D. 4 D. 74 D. 12 8. B
o. A
0. B
7) Which choiceisafactor 8) Which choiceisafactor 9) Which choiceisafactor
of 277 of 407 of 487 n D
A. 2 A. 6 A. 24 -
B. 14 B. 4 B. 7 1 D
C. 9 C. 13 C. 13
D. 20 D. 18 D. 10
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 68? of 28? of 8?
A. 13 A 12 A. 17
B. 34 B. 5 B. 9
C. 5 C. 17 C. 10
D. 16 D. 14 D. 2
M ath T 3 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|
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Finding Factors

Name:

Determine which letter best answer s each question.

2) Which choiceisnot a

1) Which choiceisnot a

4)

7)

10)

factor of 427
A 21

B. 7
C. 13
D. 14

Which choiceisnot a
factor of 367

A. 3
B. 7
C. 6
D. 36

Which choiceis afactor
of 20?

A. 14
8
2
13

OOw

Which choiceis afactor
of 65?

A. 8
B. 2

C. 17
D. 65

5)

8)

11)

factor of 8?
A. 4
B. 8
C. 2
D. 20

Which choiceisnot a
factor of 577

A. 3

B. 57
C. 19
D. 11

Which choiceis afactor
of 467

A. 2
16
20
3

OOow

Which choiceis afactor
of 64?

A. 17
B. 64
C. 10
D. 20

3) Which choiceisnot a

6)

9)

12)

factor of 527
A. 7

B. 52
C. 26
D. 13

Which choiceisnot a
factor of 447

A. 22
B. 10
C 2

D. 11

Which choiceis afactor
of 38?

A7
19
16
8

OOow

Which choiceis afactor
of 87?

A. 6
B. 29
C. 4

D. 18

Answers

10.

11

12.

Math

www.CommonCoreSheets.com 4
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Finding Factors

Name:

Answer Key

Determine which letter best answer s each question.

1)

4)

7)

10)

Which choiceisnot a
factor of 427

A 21
B. 7

C. 13
D. 14

Which choiceisnot a
factor of 367

A. 3
B. 7
C. 6
D. 36

Which choiceis afactor
of 20?

A. 14
8
2
13

OOw

Which choiceis afactor
of 65?

A. 8
B. 2

C. 17
D. 65

2)

5)

8)

11)

Which choiceisnot a
factor of 8?

A. 4
B. 8
C 2
D. 20

Which choiceisnot a
factor of 577

A. 3

B. 57
C. 19
D. 11

Which choiceis afactor
of 467

A. 2
16
20
3

OOow

Which choiceis afactor
of 64?

A. 17
B. 64
C. 10
D. 20

3)

6)

9)

12)

Which choiceisnot a
factor of 527

A7
B. 52
C. 26
D. 13

Which choiceisnot a
factor of 447

A. 22
B. 10
C 2

D. 11

Which choiceis afactor
of 38?

A7
19
16
8

OOow

Which choiceis afactor
of 87?

A. 6
B. 29
C. 4

D. 18

Answers
1 C
2 D
3 A
. B
s. D
6. B
r_C_
8 A
o. B
o D
n B
12. B

Math

www.CommonCoreSheets.com 4
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Finding Factors

Name:

Determine which letter best answer s each question.

1) Which choiceisnot a

4)

7)

10)

factor of 74?
A. 37

B. 74
C. 11
D. 2

Which choiceisnot a
factor of 327

A. 8
B. 2

C. 17
D. 16

Which choiceis afactor
of 467

A. 15
B. 46
C. 20
D. 19

Which choiceis afactor
of 627

2) Which choiceisnot a

5)

8)

11)

factor of 14?
A. 19

2

7

14

O0Ow

Which choiceisnot a
factor of 607?

A 2
B. 60
C. 5

D. 18

Which choiceis afactor
of 21?

A. 3
14
6
8

OOw

Which choiceis afactor
of 30?

3) Which choiceisnot a

6)

9

12)

factor of 54?7
A. 18
B. 3
C. 9
D. 20

Which choiceisnot a
factor of 127?

A. 2
B. 3
C. 10
D. 12

Which choiceis afactor
of 15?

A. 3
13
17
7

OOw

Which choiceis afactor
of 67

Answers

10.

11

12.

A. 2 A. 19 A. 2
B. 13 B. 14 B. 8
C. 7 C. 15 C. 11
D. 14 D. 17 D. 13
1-10 |92 83| 75| 67]58]50]42]33] 25| 17|
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|

Finding Factors Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 74? factor of 14? factor of 54? . C
A. 37 A. 19 A. 18 -
B. 74 B. 2 B. 3 , A
C 1 C. 7 C. 9 S
D. 2 D. 14 D. 20 3 D
s C
s, D
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 327 factor of 60? factor of 12? . C
A. 8 A 2 A 2 S
B. 2 B. 60 B. 3 . B
C. 17 C. 5 C. 10 -
D. 16 D. 18 D. 12 8. A
o. A
0. A
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceisafactor
of 467 of 217 of 157 e
A. 15 A. 3 A. 3 -
B. 46 B. 14 B. 13 1 A
C. 20 C. 6 C. 17
D. 19 D. 8 D. 7
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 62? of 30? of 6?
A. 2 A. 19 A 2
B. 13 B. 14 B. 8
C. 7 C. 15 C. 1
D. 14 D. 17 D. 13
M ath T 5 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 48? factor of 157 factor of 20? 1.
A. 6 A. 3 A. 20
B. 2 B. 17 B. 2 )
C. 8 C. 5 C. 5
D. 20 D. 15 D. 18 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 77? factor of 21? factor of 95? 6.
A. 18 A 21 A. 19
B. 11 B. 8 B. 5 N
C. 7 C. 7 C. 95
D. 77 D. 3 D. 16 8.
9.
10.
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceisafactor
of 927 of 127 of 227 "
A. 17 A. 14 A. 12
B. 92 B. 2 B. 9 1
C. 20 C. 19 C. 15
D. 14 D. 5 D. 2
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 63? of 6? of 68?
A. 3 A 2 A. 3
B. 19 B. 13 B. 9
C. 13 C. 1 C 4
D. 4 D. 4 D. 10
M ath T 6 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 482 factor of 15? factor of 20? 1 D
A. 6 A. 3 A. 20 -
B. 2 B. 17 B. 2 , B
C. 8 C. 5 C. 5 S
D. 20 D. 15 D. 18 3 D
a A
5. B
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 777 factor of 21? factor of 95? 6. D
A. 18 A 21 A. 19 S
B. 11 B. 8 B. 5 7 B
C. 7 C. 7 C. 95 -
D. 77 D. 3 D. 16 8. B
o. D
0. A
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceisafactor
of 927 of 127 of 227 n A
A. 17 A. 14 A. 12
B. 92 B. 2 B. 9 1 C
C. 20 C. 19 C. 15
D. 14 D. 5 D. 2
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 63? of 6? of 68?
A. 3 A 2 A. 3
B. 19 B. 13 B. 9
C. 13 C. 1 C 4
D. 4 D. 4 D. 10
M ath T 6 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 70? factor of 447 factor of 547 1.
A. 35 A 11 A. 3
B. 2 B. 19 B. 2 )
C. 6 C. 22 C. 6
D. 14 D. 44 D. 17 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 687 factor of 10? factor of 327 6.
A. 2 A. 12 A. 16
B. 16 B. 2 B. 6 N
C 4 C. 10 C. 4
D. 68 D. 5 D. 8 8.
9.
10.
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceis afactor
of 287 of 967 of 217 "
A. 4 A. 13 A. 17
B. 11 B. 6 B. 3 1
C. 13 C. 9 C. 10
D. 15 D. 14 D. 14
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 667? of 62? of 58?
A. 17 A. 15 A. 29
B. 22 B. 7 B. 11
C. 12 C. 62 C. 12
D. 16 D. 8 D. 13
M ath T 7 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 70? factor of 44? factor of 54? . C
A. 35 A 11 A. 3 -
B. 2 B. 19 B. 2 , B
C. 6 C. 22 C. 6 S
D. 14 D. 44 D. 17 3 D
s B
5. A
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 687 factor of 10? factor of 32? 6. B
A. 2 A. 12 A. 16 S
B. 16 B. 2 B. 6 7 A
C 4 C. 10 C. 4 -
D. 68 D. 5 D. 8 8. B
o. B
0. B
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceis afactor
of 287 of 967 of 217 e
A. 4 A. 13 A. 17 -
B. 11 B. 6 B. 3 1 A
C. 13 C. 9 C. 10
D. 15 D. 14 D. 14
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 667? of 62? of 58?
A. 17 A. 15 A. 29
B. 22 B. 7 B. 11
C. 12 C. 62 C. 12
D. 16 D. 8 D. 13
M ath T 7 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|
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1)

4)

7)

10)

Determine which letter best answer s each question. Answers

Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a

factor of 10? factor of 30? factor of 627 1.

A. 5 A. 15 A. 18

B. 15 B. 30 B. 2 5

C. 2 C. 14 C. 31

D. 10 D. 3 D. 62 3
4.
5.

Which choiceisnot a 5) Which choiceisnot a 6) Which choiceisnot a

factor of 54? factor of 48? factor of 39? 6.

A. 2 A. 4 A. 13

B. 54 B. 3 B. 3 7

C. 16 C. 18 C. 39

D. 6 D. 16 D. 6 8
9.
10.

Which choiceisafactor ~ 8) Which choiceisafactor 9) Which choiceisafactor

of 56? of 81? of 90? 11

A. 16 A. 19 A. 14

B. 14 B. 12 B. 2 1

C. 20 C. 5 C. 7

D. 18 D. 81 D. 8

Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor

of 51? of 52? of 67

A. 8 A. 13 A. 8

B. 17 B. 5 B. 15

C. 16 C. 12 C. 6

D. 4 D. 14 D. 9

M ath T 8 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|

Finding Factors

Name:




Name:

|

Finding Factors Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 10? factor of 30? factor of 622 . B
A. 5 A. 15 A. 18 -
B. 15 B. 30 B. 2 , C
C 2 C. 14 C. 3 S
D. 10 D. 3 D. 62 3 A
s C
5. C
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 547 factor of 487 factor of 397 6. D
A. 2 A 4 A. 13 S
B. 54 B. 3 B. 3 . B
C. 16 C. 18 C. 39 -
D. 6 D. 16 D. 6 8. D
o. B
0. B
7) Which choiceisafactor ~ 8) Whichchoiceisafactor 9) Which choiceisafactor
of 567 of 817 of 907 n A
A. 16 A. 19 A. 14 -
B. 14 B. 12 B. 2 1 C
C. 20 C. 5 C. 7
D. 18 D. 81 D. 8
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 517 of 52? of 67
A. 8 A. 13 A. 8
B. 17 B. 5 B. 15
C. 16 C. 12 C. 6
D. 4 D. 14 D. 9
M ath T 8 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 367 factor of 55? factor of 887 1.
A. 9 A. 15 A. 2
B. 8 B. 5 B. 44 )
C. 6 C. 55 C 4
D. 12 D. 11 D. 14 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 637 factor of 517 factor of 12? 6.
A. 9 A. 17 A. 2
B. 7 B. 51 B. 4 N
C. 6 C. 3 C. 16
D. 63 D. 5 D. 6 8.
9.
10.
7) Which choiceisafactor 8) Whichchoiceisafactor 9) Which choiceis afactor
of 147 of 397 of 727 "
A. 13 A. 12 A. 5
B. 7 B. 18 B. 36 1
C. 17 C. 3 C. 17
D. 8 D. 6 D. 7
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 70? of 807? of 667?
A 7 A. 40 A. 20
B. 3 B. 3 B. 12
C. 18 C. 17 C. 16
D. 9 D. 9 D. 33
M ath T 9 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 36? factor of 55? factor of 88 . B
A. 9 A. 15 A. 2 -
B. 8 B. 5 B. 44 , A
C. 6 C. 55 C 4 S
D. 12 D. 11 D. 14 3 D
s C
s, D
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 63? factor of 517 factor of 12? . C
A. 9 A. 17 A. 2 S
B. 7 B. 51 B. 4 7 B
C. 6 C. 3 C. 16 -
D. 63 D. 5 D. 6 8. C
o. B
0. A
7) Which choiceisafactor 8) Whichchoiceisafactor 9) Which choiceis afactor
of 147 of 397 of 727 n A
A. 13 A. 12 A. 5 -
B. 7 B. 18 B. 36 1 D
C. 17 C. 3 C. 17 -
D. 8 D. 6 D. 7
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceisafactor
of 70? of 807? of 667?
A 7 A. 40 A. 20
B. 3 B. 3 B. 12
C. 18 C. 17 C. 16
D. 9 D. 9 D. 33
M ath T 9 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 57? factor of 32? factor of 727 1.
A. 5 A. 9 A. 17
B. 3 B. 2 B. 3 )
C. 57 C. 8 C 4
D. 19 D. 16 D. 18 3
4,
5.
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 48? factor of 517 factor of 807 6.
A. 48 A. 3 A. 10
B. 16 B. 51 B. 6 N
C 4 C. 17 C 4
D. 5 D. 11 D. 8 8.
9.
10.
7) Which choiceisafactor 8) Whichchoiceisafactor 9) Which choiceis afactor
of 227 of 647 of 907 "
A. 5 A 7 A 11
B. 8 B. 19 B. 7 1
C. 7 C. 18 C. 45
D. 2 D. 64 D. 13
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceis afactor
of 50? of 84? of 217
A. 6 A. 14 A. 17
B. 20 B. 13 B. 10
C 1 C. 17 C 2
D. 25 D. 19 D. 19
M ath T 10 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




ﬂé Finding Factors Name. Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot a 2) Which choiceisnot a 3) Which choiceisnot a
factor of 57? factor of 32? factor of 72? 1. A
A. 5 A. 9 A. 17 -
B. 3 B. 2 B. 3 , A
C. 57 C. 8 C 4 S
D. 19 D. 16 D. 18 3 A
s D
s, D
4) Which choiceis not a 5) Which choiceisnot a 6) Which choiceisnot a
factor of 487 factor of 517 factor of 807 6. B
A. 48 A. 3 A. 10 S
B. 16 B. 51 B. 6 7 D
C 4 C. 17 C 4 -
D. 5 D. 11 D. 8 8. D
o. C
0. D
7) Which choiceisafactor 8) Whichchoiceisafactor 9) Which choiceis afactor
of 227 of 647 of 907 n A
A. 5 A 7 A 11 -
B. 8 B. 19 B. 7 1 C
C. 7 C. 18 C. 45
D. 2 D. 64 D. 13
10) Which choiceisafactor 11) Which choiceisafactor 12) Which choiceis afactor
of 50? of 84? of 217
A. 6 A. 14 A. 17
B. 20 B. 13 B. 10
C 1 C. 17 C 2
D. 25 D. 19 D. 19
M ath T 10 111-_1102 %2 Ega 75|67]58]50]42]33|25]17|




